BMEL—=>7735Y (% EMIER)

Week 1
Dayl (HEE£)
RYFTLR 5ty 5@ (92.5kg)
A4 VIN—RIVTL R 4ty 8@ (80kg | #110%iRk)
Ry 9774 3tvhk 10 B (45~55kg)
Fa4vTR 3ty PR5? (EZE or +5kg)

Day2 (FRY 1—L)

]
!

=] Ty b
RYFTLA 4ty 10 E (80kg)
AVIIFAVRIANRIY VYT LA 4ty hk 8o (77.5kg | #110%:iRk)
=N o0RA—I\— 3ty h 12 (Kfl15~20kg)
Tyvoary7 3tvh RS}
Week 2
Day3 (BEE)
RYFTLA 6ty 3 [E (97.5kg)
AVIZA4VIN—=RIVT LR 4ty 6 [El (85kg | #15~10%iR)
Ry92734 3tvhk 12 B (45~55kg)
TA4vTR 3ty b PR5® (+5~10kg)

Day4 (/K'Y a1—L)

EH v b =%
RYFTLA 4ty 8 [El (85kg)
AVIIFAVARIARIY VYT LA 4ty 10[@ (72.5~75kg | ¥110%:ikk)
=7 0RFA—I\— 3tvhk 12[E (K A15~20kg)
Tyvarv7 (3WT3Y) 3tvk PR5}

Week 3

Day5 (EEE/EZIvR)
4=

ty MK

]
-

RYFTLAR (EF2YR)

&0k R Ofa] —

02.5kg X 6[6] — 97.5kgx 48 — 105kgx 2[] —

» 86kg:

A4 YIN—RIVTL R

4ty b

6 [ (87.5kg | #15%iR)




Ry II754 3tvhk 12 [ (45~55kg)

T14vTR 3tvhk FRF (+10kg)
Day6 (/RY 2—L1)
RYFTLA 4ty 10 E (80kg)
AVIFAVARIANRIY VYT LA 4ty 81O (77.5kg | £110%:iR)
=W 7aRA—I\— 3tvhk 12~15[E (K {l15~20kg)
7voarv7 3tvhk PR5?
Week 4
Day7 (S -E—*%>7)
RYFTLA 4ty 2[E (105kg)
AVIFA4VIN—=RILTL R 4ty h 6 @ (85kg | #15~10%iH)
Ry 9774 3tvhk 12 [@ (45~55kg)
TA4vTR 2ty bk PR5R
Day8 (K'Y a—L - £ EIF)
RYFTILR 3tvh 86 (85kg)
AVIIFAVARIARIY VYT LR 3tvhk 10[E (72.5~75kg | ¥110%:ikk)
=7 7aRA—I\— 3tvhk 12[E (KA15~20kg)
Tvoarv7 2~3tvyh PR5?

MAXT X b (Weekb5Z Iz ldWeek4i%)

60kg % 5[0]
80kg X 3[E|
95kgx 1]
105kgx 1[E]
115kgx 1[8] (F&5%)
120kgx 1[E] (k! )




